

$$3\frac{4}{9} - 2\frac{4}{10} =$$

$$\frac{6}{3} - \frac{7}{9} =$$

$$\frac{4}{6} - \frac{3}{5} =$$

$$\frac{3}{6} + \frac{5}{10} =$$

$$\frac{5}{11} + \frac{4}{10} =$$

$$\frac{4}{2} - \frac{3}{10} =$$

$$1000\frac{2}{5} + 7\frac{4}{7} =$$



$$3\frac{4}{9} - 2\frac{4}{10} = 3\frac{40}{90} - 2\frac{36}{90} = 1\frac{4}{90} = 1\frac{2}{45}$$

$$\frac{6}{3} - \frac{7}{9} = \frac{18}{9} - \frac{7}{9} = \frac{11}{9} = 1\frac{2}{9}$$

$$\frac{4}{6} - \frac{3}{5} = \frac{20}{30} - \frac{18}{30} = \frac{2}{30} = \frac{1}{15}$$

$$\frac{3}{6} + \frac{5}{10} = \frac{15}{30} + \frac{15}{30} = \frac{30}{30} = 1$$

$$\frac{5}{11} + \frac{4}{10} = \frac{50}{110} + \frac{44}{110} = \frac{94}{110} = \frac{47}{55}$$

$$\frac{4}{2} - \frac{3}{10} = \frac{20}{10} - \frac{3}{10} = \frac{17}{10} = 1\frac{7}{10}$$

$$1000\frac{2}{5} + 7\frac{4}{7} = 1000\frac{14}{35} + 7\frac{20}{35} = 1007\frac{34}{35}$$

